SM3 4.4 answers
1. [-3,), {x|x = -3}

-0-8 6420246 810

2. (-, ), {x|xis all real numbers}
08 64202 46 810

3. (—o,1], {x|x <1}

-10-8 64202 46 810

4. [-5,00), {x|x = -5}

-0-8 6420124067810

5. [4,00), {x|x = 4}

086420246810

6. (—, ), {x|xis all real numbers}

S

-10-8 64 -2 0 2 4 6 8 10

7. (—oo, ), {x|xis all real numbers}

B e e e

08 64202 46 810
8. [5,0), {x|x =5}

0§ -64-202 406810

9. (—x,4], {x|x <4}

-10-8 64202 46 810
10. (—,3], {x|x <3}

-10-8 64202406 810

11. Domain: (—oo, o)
Range: (—o, )
x-intercept: (4, 0)
y-intercept: (0,2)
Increasing: N/A
Decreasing: (—o0, o)
Constant: N/A
Positive: (—,4)
Negative: (4, o)
Max/Min: N/A
Symmetry: N/A
lim f(xX)=00 lim f(x)=-
X

X0
12. Domain: [—8, )
Range: (—oo, 3]
x-intercept: (1,0)
y-intercept: (0,1)
Increasing: N/A
Decreasing: (—2, o)
Constant: (—8,—2)
Positive: [—8,1)
Negative: (1, o)
Max: 3

Symmetry: N/A

lim f(x)=N/A 1m f(x)=-

X>—o0

13. Domain: (—oo, o0)

Range: (—, 6]

x-intercept: (—4,0)

y-intercept: (0,6)

Increasing: (—o0,—2)

Decreasing: N/A

Constant: (—2, )

Positive: (—4, o)

Negative: (—o0,—4)

Max: 6

Symmetry: N/A

lim f(X)=-00 |limf(x)=6
X—>00

X—>—0



14. Domain: (—oo, o)

Range: [—7, )

x-intercept: (—5,0), (9,0)

y-intercept: (0,—5)

Increasing: (2, )

Decreasing: (—,2)

Constant: N/A

Positive: (—o,—5) U (9, o)

Negative: (—5,9)

Min: (2,=7)

Symmetry: N/A

lim f(X)=o00 limf(x)=00
X500

X—>—o0
15. Domain: (—oo, )

Range: (—,9]

x-intercept: (=5, 0), (1,0)
y-intercept: (0,5)

Increasing: (—o0,—2)

Decreasing: (—2, )

Constant: N/A

Positive: (=5, 1)

Negative: (—o0,—5) U (1, o)
Max: (—2,9)

Symmetry: N/A

lim f(x)=-oo me(x):—m

X—>—o0
16. Domain: (—oo, o)

Range: (—o, )

x-intercept: (1,0), (2,0)
y-intercept: (0,2)

Increasing: (—o0,0) U (2, o)
Decreasing: (0, 2)

Constant: (—1,2) U (2, o)
Positive: (—,2)

Negative: (4, o)

Max: (0,2) Min: (2,0)
Symmetry: N/A

lim f(x)=w )I(l_rg f(X)=o0

X—>—00

17. Domain: [—4, )
Range: [0, )
x-intercept: (—4,0)
y-intercept: (0,2)
Increasing: (—4, o)
Decreasing: N/A
Constant: N/A
Positive: (—4, )
Negative: N/A

Min: (—4,0)
Symmetry: N/A

lim f(x)=N/A erjo f(x)=o0

X0
18. Domain: (—o0,—2) U (=2, »)
Range: [—4, )

x-intercept: (7, 0)

y-intercept: (0,—2)

Increasing: (5, )

Decreasing: (—o,—2)

Constant: (—2,5)

Positive: (—o0,—2) U (7, o)
Negative: (—2,7)

Min: (5,—4)

Symmetry: N/A

lim f(x) =0 Ixi_rﬂjf(x):oo

X—>—00



